TABLE 6. HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2008**

	Construction			<u>Manufacturing</u>			Durable Goods		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	\$754.03	36.8	\$20.49	\$701.13	39.5	\$17.75	\$740.34	40.5	\$18.28
February	751.32	36.0	20.87	707.07	39.0	18.13	736.04	39.7	18.54
March	790.19	38.1	20.74	680.35	38.7	17.58	738.95	39.9	18.52
April	774.65	37.1	20.88	688.32	39.4	17.47	738.15	39.9	18.50
May	813.30	38.6	21.07	689.59	39.7	17.37	747.86	40.8	18.33
June	868.17	40.1	21.65	713.44	39.2	18.20	779.14	40.1	19.43
July	875.61	40.5	21.62	725.95	39.8	18.24	791.78	40.5	19.55
August	918.67	41.4	22.19	717.59	39.8	18.03	776.98	40.3	19.28
September	847.67	39.5	21.46	728.64	39.6	18.40	767.00	39.7	19.32
October	850.06	39.3	21.63	715.20	40.0	17.88	748.67	39.3	19.05
November	834.05	38.4	21.72	697.38	39.4	17.70	718.20	37.8	19.00
December	837.24	38.3	21.86	699.34	39.6	17.66	719.82	38.7	18.60
ANNUAL AVERAGE	826.25	38.7	21.35	705.33	39.5	17.87	750.24	39.8	18.87

	Wholesale Trade			Retail Trade			Food & Beverage Stores		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	\$876.90	37.0	\$23.70	\$338.01	28.5	\$11.86	N/A	N/A	N/A
February	867.50	38.3	22.65	345.77	28.6	12.09	N/A	N/A	N/A
March	844.43	38.7	21.82	348.92	28.6	12.20	N/A	N/A	N/A
April	833.55	37.7	22.11	341.04	28.0	12.18	N/A	N/A	N/A
May	841.41	38.9	21.63	350.84	28.5	12.31	N/A	N/A	N/A
June	893.76	39.9	22.40	358.34	29.3	12.23	N/A	N/A	N/A
July	859.07	38.3	22.43	364.03	29.5	12.34	N/A	N/A	N/A
August	886.21	40.1	22.10	364.79	29.3	12.45	N/A	N/A	N/A
September	729.79	36.2	20.16	370.59	29.6	12.52	N/A	N/A	N/A
October	740.62	35.9	20.63	364.24	29.0	12.56	N/A	N/A	N/A
November	816.72	38.2	21.38	364.36	28.6	12.74	N/A	N/A	N/A
December	756.26	37.7	20.06	359.60	29.0	12.40	N/A	N/A	N/A
ANNUAL AVERAGE	828.85	38.1	21.76	355.88	28.9	12.32	N/A	N/A	N/A

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2008.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY WORKERS IN UTAH BY NAICS SECTOR, 2008

	Transpor	tation & Ware	housing	Informatio	<u>n</u>	
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	\$808.68	32.9	\$24.58
February	N/A	N/A	N/A	783.05	32.6	24.02
March	N/A	N/A	N/A	795.92	33.4	23.83
April	N/A	N/A	N/A	735.02	31.6	23.26
May	N/A	N/A	N/A	743.58	32.4	22.95
June	N/A	N/A	N/A	805.00	35.4	22.74
July	N/A	N/A	N/A	788.92	33.7	23.41
August	N/A	N/A	N/A	790.10	34.1	23.17
September	N/A	N/A	N/A	805.80	33.9	23.77
October	N/A	N/A	N/A	824.79	33.9	24.33
November	N/A	N/A	N/A	857.33	35.5	24.15
December	N/A	N/A	N/A	836.00	33.4	25.03
ANNUAL AVERAGE	N/A	N/A	N/A	797.85	33.6	23.77

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2008.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2008**

Ogden-Clearfield MSA (includes Weber, Davis, and Morgan counties)

	Nat. Resources & Construction			Manufacturing			Durable Goods		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
February	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
March	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
April	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
May	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
June	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
July	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
August	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
September	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
October	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
November	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
December	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
ANNUAL AVERAGE	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A

	Trade, Tra	ansportation	& Utilities	Retail Trade				
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE		
January	\$334.49	31.0	\$10.79	\$317.68	30.4	\$10.45		
February	333.54	30.6	10.90	350.98	32.2	10.90		
March	341.80	30.6	11.17	345.65	31.0	11.15		
April	326.70	30.0	10.89	354.71	32.1	11.05		
May	340.65	30.8	11.06	349.99	31.0	11.29		
June	340.69	31.0	10.99	361.11	31.9	11.32		
July	337.75	31.1	10.86	361.06	31.7	11.39		
August	357.55	31.2	11.46	354.43	31.2	11.36		
September	365.09	31.5	11.59	363.20	31.5	11.53		
October	361.77	31.0	11.67	360.47	30.6	11.78		
November	354.11	30.5	11.61	380.60	32.2	11.82		
December	355.26	31.3	11.35	388.15	32.4	11.98		
ANNUAL AVERAGE	345.78	30.9	11.20	357.34	31.5	11.34		

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2008.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY WORKERS IN UTAH BY NAICS SECTOR, 2008

Provo - Orem MSA (includes Utah and Juab counties)

	Nat. Resources & Construction				<u>Manufacturing</u>			Trade, Transportation & Utilities		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	
January	N/A	N/A	N/A	N/A	N/A	N/A	\$331.47	31.3	\$10.59	
February	N/A	N/A	N/A	N/A	N/A	N/A	304.23	28.3	10.75	
March	N/A	N/A	N/A	N/A	N/A	N/A	291.16	29.0	10.04	
April	N/A	N/A	N/A	N/A	N/A	N/A	283.01	26.8	10.56	
May	N/A	N/A	N/A	N/A	N/A	N/A	351.12	31.1	11.29	
June	N/A	N/A	N/A	N/A	N/A	N/A	373.06	33.7	11.07	
July	N/A	N/A	N/A	N/A	N/A	N/A	346.24	29.9	11.58	
August	N/A	N/A	N/A	N/A	N/A	N/A	306.60	28.0	10.95	
September	N/A	N/A	N/A	N/A	N/A	N/A	312.43	28.3	11.04	
October	N/A	N/A	N/A	N/A	N/A	N/A	322.91	28.5	11.33	
November	N/A	N/A	N/A	N/A	N/A	N/A	345.90	30.0	11.53	
December	N/A	N/A	N/A	N/A	N/A	N/A	351.34	29.8	11.79	
ANNUAL AVERAGE	N/A	N/A	N/A	N/A	N/A	N/A	326.62	29.6	11.04	

	Retail Trade						
Month	AWE	<u>AWH</u>	AHE				
January	\$334.36	28.7	\$11.65				
February	314.43	28.9	10.88				
March	339.45	28.1	12.08				
April	310.75	27.5	11.30				
May	302.25	25.9	11.67				
June	289.22	25.8	11.21				
July	267.50	25.0	10.70				
August	242.97	22.9	10.61				
September	239.98	21.6	11.11				
October	230.31	20.6	11.18				
November	226.25	20.7	10.93				
December	212.59	20.5	10.37				
ANNUAL AVERAGE	275.84	24.7	11.14				

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2008.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2008**

Salt Lake City MSA (includes Salt Lake, Tooele, and Summit counties).

	Nat. Resources & Construction			Manufacturing			Durable Goods		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	\$701.90	39.7	\$17.68	N/A	N/A	N/A
February	N/A	N/A	N/A	717.16	39.6	18.11	N/A	N/A	N/A
March	N/A	N/A	N/A	759.27	42.8	17.74	N/A	N/A	N/A
April	N/A	N/A	N/A	723.66	42.0	17.23	N/A	N/A	N/A
May	N/A	N/A	N/A	785.46	43.3	18.14	N/A	N/A	N/A
June	N/A	N/A	N/A	761.08	42.4	17.95	N/A	N/A	N/A
July	N/A	N/A	N/A	768.11	41.7	18.42	N/A	N/A	N/A
August	N/A	N/A	N/A	782.27	41.9	18.67	N/A	N/A	N/A
September	N/A	N/A	N/A	794.06	42.6	18.64	N/A	N/A	N/A
October	N/A	N/A	N/A	822.16	43.0	19.12	N/A	N/A	N/A
November	N/A	N/A	N/A	810.85	42.1	19.26	N/A	N/A	N/A
December	N/A	N/A	N/A	822.13	43.8	18.77	N/A	N/A	N/A
ANNUAL AVERAGE	N/A	N/A	N/A	770.68	42.1	18.31	N/A	N/A	N/A
	Wh	nolesale Trade	<u> </u>	Retail Trade			Trans., Warehousing & Utilities		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	\$867.11	40.5	\$21.41	\$348.33	27.8	\$12.53	N/A	N/A	N/A
February	834.30	38.5	21.67	363.50	28.2	12.89	N/A	N/A	N/A
March	889.10	41.2	21.58	384.25	28.4	13.53	N/A	N/A	N/A
April	835.07	40.4	20.67	381.33	28.5	13.38	N/A	N/A	N/A
May	777.00	37.7	20.61	397.38	28.9	13.75	N/A	N/A	N/A
June	829.13	38.6	21.48	389.26	29.4	13.24	N/A	N/A	N/A
July	823.72	38.8	21.23	389.40	29.5	13.20	N/A	N/A	N/A
August	782.28	37.7	20.75	392.35	29.5	13.30	N/A	N/A	N/A
September	730.19	37.6	19.42	397.96	29.5	13.49	N/A	N/A	N/A
October	758.59	36.7	20.67	401.29	29.1	13.79	N/A	N/A	N/A
November	899.93	34.8	25.86	385.70	29.0	13.30	N/A	N/A	N/A
December	973.34	36.4	26.74	391.69	29.9	13.10	N/A	N/A	N/A
ANNUAL AVERAGE	833.31	38.2	21.84	385.20	29.0	13.29	N/A	N/A	N/A

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2008.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2008** Salt Lake City MSA (includes Salt Lake, Tooele, and Summit counties).

	Information						
Month	AWE	<u>AWH</u>	AHE				
January	N/A	N/A	N/A				
February	N/A	N/A	N/A				
March	N/A	N/A	N/A				
April	N/A	N/A	N/A				
May	N/A	N/A	N/A				
June	N/A	N/A	N/A				
July	N/A	N/A	N/A				
August	N/A	N/A	N/A				
September	N/A	N/A	N/A				
October	N/A	N/A	N/A				
November	N/A	N/A	N/A				
December	N/A	N/A	N/A				
ANNUAL AVERAGE	N/A	N/A	N/A				

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2008.